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The following problem has appeared in elementary statistics books: You are driving
on the highway and adjust your speed until the number of cars that you pass is equal
to the number of cars that pass you. Is your speed the median speed or the mean speed
of the cars on the highway?

Students are expected to answer that since the number of cars going slower than you
are is equal to the number of cars going faster than you are, your speed is the median
speed. This certainly is true of the cars that you see, but that isn’t what the problem
asks, and it isn’t the correct answer. The surprising results that we will derive illustrate
the importance of careful and precise thinking when sampling.

Here’s an example. Imagine a highway with five lanes. In one lane, cars travel
20 miles per hour with two cars per mile. The other lanes have cars traveling 45 miles
per hour with seven cars per mile, 55 miles per hour with two cars per mile, 65 miles
per hour with three cars per mile, and 70 miles per hour with six cars per mile. The
cars’ median speed is 55 miles per hour since there are nine cars per mile going faster
than 55 miles per hour and nine cars per mile going slower.

When driving you cannot directly observe the number of cars moving at each speed.
What will you see if you drive at the median speed of 55 mph? The number of cars
going, say, 45 mph that you pass in an hour is equal to (55 — 45) - 7 = 70. The com-
putations for all of the speeds are given below:

Number of Number you Number that pass
Mph cars per mile pass per hour you per hour
20 2 70 0
45 7 70 0
55 2 4] 0
65 3 0 30
70 6 0 90
Total 20 140 120
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The table shows that if you travel at the median speed, then the number of cars that
you pass is greater than the number that pass you.

How can you determine the median speed of traffic using only what you see from
your car? Suppose you are traveling at s miles per hour. If a lane of cars is going x
miles per hour, with d, cars per mile and x < s, then you pass (s — x)d, cars in the
next hour. If x > s, then (x — s)d, cars pass you in the next hour.

Let N, be the number of cars traveling at speed x that you pass or that pass you in
the next hour. Since N, = |x — s|d,, you can determine the number of cars going at
speed x by d, = =Tt follows that your speed s is the median speed if

jx~s{~
N, N,
2 x — s =2 x—s|’
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For instance, in the example, if s = 55 we have

70 + 70 30 + 90
35 10 10 15
so 55 mph is the median speed. Medians can usually be found just by counting, but if

you are driving it is impossible to find the median speed of the cars on the highway

unless you can accurately determine the actual speed of each car you see. _
By a similar line of reasoning, it is not hard to see that your percentile rank in the

distribution of speeds on the highway is rot given simply by the proportion of cars you
pass out of the total number that you see,
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but rather by the weighted proportion
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Now what about the mean speed? In our example the mean speed of cars is

2:204+7-4542-55+3.65+6-70
247424346

= 54 mph.

Surprisingly, then, if you are traveling at the mean speed then the number of cars that
you pass is equal to the number that pass you:

Number of Number you Number that pass
Mph cars per mile pass per hour you per hour
20 2 68 0
45 7 63 0
55 2 0 2
65 3 0 33
70 6 0 96
Total 20 131 131
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This result is true in general. If you adjust your speed so that as many cars pass you
as you pass, then your speed is the mean speed of all the other cars on the highway.
That is, the correct answer to the question at the beginning of this article is the mean!
To see this, suppose you are traveling at a constant speed s for one hour so that the
number of cars that you pass is equal to the number of cars that pass you. Cars going
a given speed x are spaced d, cars per mile. The number of cars that you pass is

Z(s — x)d, =dex — Zx d..

X=<s x<s X<y

The number that pass you is

Z (x —s)d, = Zx -dy — § de.

X>5 X>s X>§

If these are equal, then
Sde —ZX'd,\» ZZX - dy —Szdxa

SO

Y x-d. sumof speeds of all cars per mile

o - = d of all cars.
Y 2 dx number of cars per mile mean speed ot all cars

The mean speed, then, isn’t hard to determine—just adjust your speed to be the median
speed of the cars you see!
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